LG RFEINCOT

PRODUCTS’

INSTALLATION INSTRUCTIONS

DOMINATOR III SERIES SIDE STEPS PART NUMBER D36088 (B-PS)
07-11 CHEVROLET SILVERADO / GMC SIERRA 1500 CREW CAB P/U 4DR 2/4WD

Do not attempt to install this product on any vehicle other than the one it is designed for and listed above!

PARTS LIST
QTY PART DESCRIPTION QTY PART DESCRIPTION
4 5/16” U-NUT 16 3/8" HEX NUT
4 5/16” X 1" HEX BOLT 16 3/8” FLAT WASHER
4 8M X 25M HEX BOLT 3 CO7D DRIVER BRACKET
8 5/16" LOCK WASHER 3 CO7P PASSENGER BRACKET
8 5/16” FLAT WASHER 1 388FD DRIVER SIDE STEP FRONT SECTION
16 3/8” x 1 1/4* HEX BOLT 1 388RD DRIVER SIDE STEP REAR SECTION
16 3/8” LOCK WASHER 1 388FP PASSENGER SIDE STEP FRONT SECTION
1

388RP PASSENGER SIDE STEP REAR SECTION

Read the instructions completely before you begin the installation.

8M threaded insert in the rocker panel. Photo #1 & #2

Step-1 This installation uses three brackets per side. Begin by installing the passenger side front bracket. Measure
from the front fender bolt rearward approximately 14" and locate the 8M nut welded to the body pinch mold and the

'

e FRONT FENDER BOLT [

FODI7.003.1



LUIS FLORES
FODI7.003.I


ROCKER PANEL

\

o
PINCH MOLD

e\ D

T S

8M HEX BOLT, 5/16”" LOCK WASHER & FLAT WASHER

) =

CO7P BRACKET

8M HEX BOLT, 5/16” LOCK WASHER & FLAT WASHER

Step-2 Attach one of the CO7P brackets to the rocker panel and pinch mold using (2) 8M hex bolts, (2) 5/16” lock
washers and (2) 5/16” flat washers. Leave the bolts loose for final adjustment. Photo #3

FODI7.003.1


LUIS FLORES
FODI7.003.I


Step-3 Measure from the front fender bolt reward approximately 58 7/8” for the center bracket and locate the hole in
the body pinch mold and the plastic plug in the rocker panel. Remove the plastic plug from the rocker panel and
install (1) 5/16” U-Nut in the rocker panel. Photo #4 & #5

PLASTIC PLUG

Step-4 Measure from the front fender bolt reward approximately 75 1/8” for the rear bracket and locate the hole in the
body pinch mold and the plastic plug in the rocker panel. Remove the plastic plug from the rocker panel and install (1)
5/16” U-Nut in the rocker panel.

INSTALLED 5/16”

e

3/8" X 1 1/4” HEX BOLT, FLAT WASHER, LOCK WASHER & HEX NUT

Step-5 Attach each bracket to the rocker panel using (1) 5/16” x 1" hex bolt, (1) 5/16” lock washer, (1) 5/16" flat
washer and to the pinch mold using (1) 3/8” x 1 %" hex bolt, (1) 3/8” lock washer, (1) 3/8” flat washer and (1) 3/8” hex
nut. Leave the nut and bolts loose for final adjustment. Photo #6 & #7

3

FODI7.003.1


LUIS FLORES
FODI7.003.I


om= :.‘
.

PASSENGER SIDE FRONT BRACKET

Step-6 Attach the passenger side step to each bracket using (2) 3/8” x 1 4" hex bolts, (2) 3/8” flat washers, (2) 3/8”
lock washers and (2) 3/8” hex nuts. Photo #8

3/8” X 1 1/4” HEX BOLTS, FLAT WASHERS, LOCK WASHERS & HEX NUTS

Step-7 Align the side step with the vehicle and tighten all bracket and side step nuts and bolts.
Repeat the above steps to install the driver side brackets and side step.

FODI7.003.I
FOR TECHNICAL OR WARRANTY INFORMATION CALL:

TOLL FREE (888)427-4466 FAX (714)672-0278
GO RHINO! Products® 591 W. Apolio St. Brea, CA 92821

4



LUIS FLORES
FODI7.003.I


SIDE BAR WHEEL TO WHEEL

ASSEMBLY INSTRUCTIONS
QTY  PARTS DESCRIPTION

2 PLASTIC PLUGS

2 3/8” X 3/4” SOCKET SET SCREWS

2 PLASTIC TRIM RINGS

STEP 1. BEGIN BY LAYING OUT THE DRIVER SIDE FRONT AND REAR SIDESTEP SECTIONS ON A PROTECTIVE SURFACE WITH THE STEP
PAD SIDE DOWN.

PLASTIC TRIM RING

STEP 2. INSTALL THE PLASTIC TRIM RING ON THE REAR SECTION AND INSERT THE FRONT SECTION INTO THE REAR SECTION.

STEP 3. POSITION THE SIDESTEP SECTIONS AGAINST THE PLASTIC TRIM RING.
STEP 4. ALIGN THE FRONT AND REAR STEP HOOPS AND SECURE THE ASSEMBLY USING (1) SOCKET SET SCREW.

ALLEN WRENCH

SOCKET SET SCREW

PLASTIC TRIM RING

STEP 5. INSTALL THE PLASTIC PLUG TO CONSEAL THE SET SCREW.
REPEAT THE ABOVE STEPS TO ASSEMBLE THE PASSENGER SIDE.

FODI7.003.1



LUIS FLORES
                          SIDE BAR WHEEL TO WHEEL

LUIS FLORES
FODI7.003.I


	D36127-i.pdf
	SIDE BAR WHEEL TO WHEEL  ASSEMBLY SHEET.pdf
	REAR
	QTY
	PARTS DESCRIPTION





